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RATIONALIST TALENT SEARCH EXAM 2019

STD:IV  =m:xsen Roll No.

Date of Examination : 10 February 2019, Sunday
Tdeneffardt geA / Guidelines for the Candidate

1. T99 Yftaehdict Te U9 SIS AT el Fasem Wt e s,
Please make sure that all questions are printed properly in Question booklet or
not.

2. U AT & TRET SHATERTE ek UTsieh! (e TeaT=! W hied ST,

Check to make sure that you have received the appropriate answer sheet of your name and roll
number.

3. ufet g& guangd fageneat crrean |yut el et svaredt 30 fafe iften ae quamm
BECH

You will get additional 30 minutes to check and make sure about the information about
yourself on the Answer Sheet before the start of the exam.

4. FQR IYGRETRALE TRUT 100 T ST Tedeh TYHTS! 2 T[0T 37T
This question booklet contains 100 questions each question carries 2 marks.
5. ©d U9 AISiul STavash 3TE. Yehiedl ScIaege MaTeedl TN $Haeare! SRR T[0T Tl het
SATUTR AR,
All questions are compulsory. There is no negative marking.
6. oNUTATE T UG fERT oot Wl A T
Check to make sure that you have received the appropriate test booklet for your standard.
7. UATAHER hales Tehd Stal SNIsR AT, SNieR ISt Uhd

There is only one correct answer. Choose only one option for an answer.

8. eIl UH WIIUITaTS! eheles shiedl / THest T Sictu-=r o,
To mark your choice of answers by darkening the circles in the Answer Sheet, use a Blue/Black
Ball, Pen only.

Eg.

Q. x : - Fill in the blanks.

My father went..........ccevvecrrceneennes To buy some milk.

a) there b) their c) They're d) here

As the correct answer is option a) you must darken the circle corresponding To option a) in the Answer

Sheet as follows.
CORRECT METHOD WRONG METHOD

> @®OO®| [«x @GO W]
9. UReN HUCHTER gl ScUTIohT THALTERIEhE UXd Ul

Return the Answer Sheet to the invigilator at the end of the exam.

10. SATUET URET ShHTh TYTYREThar GEaT ToTgTal a Het TYgieceht URET ShicTaeiFaR e diad
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Write your Roll No. on the Question Paper too and take it home for future reference.

Visit www.rtsexam.com for answer key after 8 days




faetean stiehdta ferdt FrRIoT ammRa 2

A) R B) %% C) %% D) %R

How many triangles are there in the given figure?

A) 9 B) 14 C) 11 D) 12

WU hHIUTET HEAT { BT 37k Usheh T 3112 ?

A) juuy B) 4u4%%& C) ul%k D) 44l
Which number has a 9 in the one’s place?

A) 9555 B) 5596 C) 5995 D) 5559
&I T3 TR U1 HYUTIohTA Hel FFTaTe ?

A) .04 B) %.0% C) %.4 D) 2.8
How would you express one and half dozen in decimal?

A) 1.05 B) 1.06 C) 15 D) 1.6

JUI ITE SAIREGAT Q4 eR SR, QUL B Taesedl YUt IIqehld Ul hodTd & kel
foret 2ge ?

A) ]Ruco B) R34o00 C) o0 D) }Rg00
Pune city has a population of 92582. What is 92582 rounded to the nearest hundreds?
A) 92580 B) 93500 C) 92500 D) 92600

Lok + 9% faetean WRTERRT fehedt =Rt St 2

A) 3 B) ¥ c) % D)
Find the remainder when 5058 is divided by 14.
A) 3 B) 4 Q) 1 D) 2

WIeTieh! ThITTAT HEAT TTE AISAThEA IS ATTAT STTE ?

A) ¥9¢, %%, %93, ¥&% B) %0, R3¢, ¥0R, I
C) 3%, j¥Y4, %3¢, ’33 D) 340, 334, 334, 3%0
Which set of numbers is in order to from greatest to least?

A) 478, 476,473, 469 B) 240, 238, 2402, 225
C) 936,945, 928, 923 D) 350, 335, 325, 360

TehT WITA §4 S ST ATed. X AT £ Y% Wi fhelt ST 18 ?
A) $¥4¢00 B) $%¥<400 C) 2%¥%¥%400 D) fu¢¥00
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10.

11.

12.

13.

14.

A carton holds 15 dozens of mango. How many mangoes are there in 825 cartons.

A) 145800 B) 148500 C) 144500
aTd W1 STYUTIeh ShIUTT ?
?R g0% o
A) — B) — ) —
20¢ 20% g0%
Which one of the following is the largest fraction?
99 101 75
A) — B) — C) —
101 101 101
§3490 — 3¥ouR =7
A) R8¢ B) R¢<¢’¢ C) R9¢s¢
63870 — 34052 =7
A) 29718 B) 28818 C) 27818
&, 9, %3, %0,33,43, ?
A) ¢& B) ©3 C) o4
6,7,13,20,33,53 ?
A) 86 B) 73 C) 75
AT T 0T ————————— I
A) QU= B) WM C) HHYHTOT
In a rectangle all angles are:
A) Equal B) Unequal C) same ration
ESIEIEET
3
¢ g
(8 & &
A) — B) — ¢ T
% % R
Subtract:
9.3
8 6
A = B) — 0 2
) 24 ) 24 )
QAT Faid TE 9T HqUTieh SHIUTT ?
A) 0.00% B) 0.00% C) 0.0l
Which of the given decimal fractions is the smallest?
A) 0.009 B) 0.002 C) 0.07
¥\ E T I A It forgre 2
A) XXLXVII B) XXXXVIII C) XLVII

D) 158400

]j¢
g0t

98
D) —
101

D) R%¢%¢

D) 29818

D) &¢

D) 68

D) ITd<hl AT

D) None of these

D)

D) 0.00¢

D) 0.008

D) ITUeh! AT




15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

Which of the following represents 47 in Roman Numerals?

A) XXLXVII B) XXXXVIII C) XLVII D) None of these
3 fier T 34 0. veA feheht SR s ?

A) R340 T B) R03% |l C) 3% | D) 33.4 @
How many centimetres are there in 2 m and 35 cm?

A) 2350 cm B) 2035 cm C) 235cm D) 23.5cm
‘3T’ A1 Irear=n 31 /T ?

A) TS B) 2TI@UTRI C) IcaTd D) HIhTE
TeTd TEUR U2 3N,

e, qadl, e, ?

A) T B) &I C) SWug D) ST

‘ qefe’ = foreaeneft vreg shivTan ot ?

A) TETIEOY B) Sedmgq c) Wren D) We

A) 214t "o B) SR ZI=Iul C) SIHUT ARU D) STHHITES S0l
Trelt fieiean yegrdt ana vregeg et

=eod -

A) et SUShR o B) T&d: T WIS v QUTRI

C) TEATER HTAG FHAAAT D) SUeT AZHIHTO SHTOTRT
‘TR’ I vTeqrE gETTelt vieg e

A) I8 B) & C) aaA D) &e
TN’ 1 ITEIITEA 3 et foet vTeg TR Brdfter ?

A) 34 B) = C) Ut D) 9R

Select the odd one out?
A) Cat-rat B) Face-lace C) Ring-sing

Select the correct spelling?
A) Niebuour B) Neibour C) Neighbour

Select the synonym of the word given below:
Wealthy
A) Poor B) Hungry C) Miserable

D) Duck-cock

D) Neghbour

D) Rich
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26.

27.

28.

29.

30.

31.

32.

Fill the correct preposition in the blank.

She went to delhi............... air.
A) In B) On C) By D) At
Who treats patients?
A) Soldier B) Doctor C) Potter D) Tailor
Select a wrong option.
A) The moon B) A ball C) An bat D) An inkpot
Replace the underlined word with suitable adverb:
Shreya sings in a beautiful voice.
A) Beautifulness B) beautifully C) beautiful D) beauty
Tick the antonym of the word given below:
PRIVATE
A) Exclusive B) Secret C) Public D) Own
WA TYASTIRAE! SRS ST STeET ?
Find the mirror image of the question figure given below.
g 3ehell / Question Figure :

HAI
Ieai 3ATheAT/ Answer Figures :

HAI IAH AHI AHI

A) B) C) | D)

Select the exactly similar figure to the given question figure.

a9 3T|7=¢h_c|"]/Question Figure :

N /\
‘q
I AThedT/ Answer Figures :
N /\
A) 2 B)




33.

34.

35.

36.

37.

WIATETUeh ShIVTAT o SAThRd! STSTET, TETA & AT A1 Teehien Hael 3caH JehR GIieret ?

Which one of following venn diagram indicates the best relation between grandfather,

Father and grandson ?

A) B) C)

WA SRt ST STed fohet STefade TR grdier ?

A) ¢ B) & C) %o

D)

D)%

What is the maximum number of semicircles you can count in the given figure?

A)8 B)6 C) 10

¥§RL0, ¥R%¥L0,... 7, WEYLO

A) 4 0%c0 B) ug¢o0 C) u3%co
46980, 49480, ....?, 54480

A) 50480 B) 51980 C) 53480
WA TeTd 1 SEUR U8 A,

A) CL B) GH C) EK
Find the odd term out from the following.

A) CL B) GH C) EK
WAt TG TR Teeelt SET S .

agge
%“,@
A)R¢ B) R C) %o

Find the missing term from the figure shown below?
A7)
%ﬁﬁa

A) 28 B) 22 C) 40

D) 4

D) kR%¢o0

D) 52980

D) FI

D) FI

D) ¥4«

D) 45




AT : WA 3¢ q %0 T Ufged TSI GH=a1 UGt STH1 Hael 3118 IF16 qer deel fod=an ugren <iean
T TIegTedn SRT AU UEeit 3T € SeTd Se 3k Udi et

Note : In the following 38 to 40 questions there is certain relationship between the pair of terms on the
either sides of :: Identify the relation between the pair and find the missing one at the place of
question mark.

38.

39.

40.

41.

42.

43.

44,

: 2 W: ?

A) o B) & C) R D) ¢
12:2::24:7

A) 7 B) 6 C) 9 D) 8
AT : dgeierer :: Rregr: ?

IR eaveare Bearil B) foreromieremrdt

C) Tt D) e feremra arfdrerrd

Block : Tahsildar :: district :

A) Chief Executive officer B) Education officer

C) Collector D) Block development officer
fom : 9 gges : ?

A) ¢ B) © C) R D) &
Tricolor : three : : rainbow : ?

A) 8 B) 7 C) 9 D) 6

TeRt FIeRIuTTa Q0° 2 fehelt <hTuT 3TH] FTehaTa ?

A) 2 B) ? C) 3 D) TTURY AT
In a triangle, How many angles can be of 90° ?

A) 1 B) 2 C) 3 D) None of these
S UTRASR ShIUTAT 29T al ?

A) IR B) it C) A D) TieA
Which country awards nobel prize ?

A) America B) Norway C) Germany D) Sweden
‘TS AT STEA SRIVTeA WA Y1y gid ?

A) @& B) TSl C) WS D) TSIt
In which language is the ‘Times of India’ published?

A) Hindi B) English C) Marathi D) Guijrati
WRATA Helld A et iUk ?

A) T B) TaTardl C) SFgYAT D) shradt
Which is the longest river in India ?

A) Ganga B) Godavari C) Brahmaputra D) Kaveri




45,

46.

47.

48.

49.

50.

51.

TeTd 7 SHUTRT I1ed ATET.
A) =@t B) WEE ™ C) I D) Shiehl

Which of the following does not belongs to the group.
Coffee, tea, orange juice, cocoa

A) Tea B) Orange Juice C) Coffee D) Cocoa
JTSCTRIATEAT fohelt STS] ST ?

A) ¢ B) & C) ¥ D) %o
How many sides does an octagon have?

A)8 B) 6 C) 4 D) 10

‘CIFAIPC’ oI 31eRI=i Tl Urgt el Higuft Shefl af T il aaR gge ?

A) T B) 391 C) SR D) HETERR
If you rearrange CIFAIPC, what is it ?
A) State B) Country C) Shape D) Ocean
WA YT gehten faHieh e,
A) 3§-3-%00 B) 3%—3-%¢00 () R¢—-%-%R00 D) 30—¥—R000
Select the wrong date from the following atternative.
A) 31-3-1700 B) 29-2-1800 C) 28-1-1900 D) 30-4-2000
TeATergTeaT SIRTt AU AT FaiaTd S,
Which option figure will replace the question mark.
v o °
o ® ®o0 e ')
o ® .
o ° L] o
L e o ° 0 o°
o 0 [ P e, 0,0
A) B) C) b= D)

ek Hichfdeh HIUA 4 =93, 9 =93, 9 ¢ = 33, X § = foreit ?

A)R B)3 C) & D) ¢
In a certain code language 5=12, 7=19, 8=22 then 1=7

A) 2 B) 3 C) 5 D)1
WIeATeTueh! THIHT THCC ATl HIUTI ?

Which one of the following figures is not symmetrical?

Lo oKk




52.

53.

54,

55.

56.

57.

58.

59.

60.

WA AUh! T 7 SEUTRT G319 ShivTdl ?

A) AT B) quI C) WRHuft
Find the odd option out from the following?

A) Satara B) Pune C) Parbhani
eIl UG STel.

A) ABXY B) FGSY C) KLDE
Find the odd term out.

A) ABXY B) FGSY C) KLDE

D) UeTR

D) Pandharpur

D) PQII

D) PQUI

Teht Hichideh Wid MOON g1 91sg NPPO 3t feifgam, @ DO g1 viss &=l forgret 2

A) EP B) CP C) CN

In a certain code language MOON is coded as NPPO then DO="?
A) EP B) CP C) CN

T RIUTAT TEh STTAT SMTTAF: TEA! ?
A) e SRISATFATSE B) AffaasT C) s

Which constituent of air is necessary for burning?
A) Carbon dioxide B) Oxygen C) Water vapour

A) =t B) WeT9TeRTl C) uruft
Fruits taste sweet because they contain.............

A) Seed B) Fructose C) Water
Rraedier S S SYaET T . TZUTATd.

A) SfreRt B) SiW C) whifetent
The tiny peaks on tongue are called............... .

A) Testers B) Tongue C) Buds
feramma vata e

A) SRS B) TR C) ShigAT
Find the odd one out.

A) Jayakwadi B) Radhanagari C) Koyana
SAFEBTEAT T HERTSCTAIG AT STg {STeaT ShivTaT ?
A) HaTg TR B) iy c) fémeh
In terms of area, which is the smallest district in Maharashtra?
A) Mumbai city B) Washim C) Hingoli
TeTa A SHUTR g .

A) AT B) Wi C) 34

D) EO

D) EO

D) ATgrH

D) Nitrogen

D) ITUHY AT

D) None of these

D) GHehicTeRT

D) Taste buds

D) HeRa

D) Bhandardara

D) gut

D) Pune

D) aT&,




61.

62.

63.

64.

65.

66.

67.

68.

Choose the odd option out.

A) Fish B) Salt C) Sugarcane D) Sand
qTUTd YuTIuT fEReressUTRY Uated shivTar ?

A) TBE U8 B) TTegr fus C) &g |rEt D) det
Which one of the following dissolve completely in the water?

A) Turmeric powder B) Wheat flour C) Washing soda D) QOil

HERTETA heITST TTHgY STaeic! fSehTUT hiurd ?

A) TS LA C) AN D) WS
Which one of the following places in Maharashtra is famous for banana?

A) Deogad B) Jalgaon C) Nagpur D) Saswad
WTeAIAdeh! TTaeht ST BIUTRT TSR ShIUTAT ?

A) fFaam B) femmeer ORCERUIER D) &t
Which one of the following diseases get cured quickly?

A) Malaria B) Typhoid C) Chikungunya D) cold
WeiicTieh! adiiereh foam SHum e v ?

A) STfesa B) AFI=IE C) &=h D) Shaht
Which one of the following fruits has the largest seeds ?

A) Pomegranate B) Apple C) Orange D) Banana

FAEAIAT ST HREHT HITEAT TZUTATd ?

A) B B) e C) U D)9x
Which one of the following is known as the food factory of a plant ?

A) Flower B) Fruit C) Leaf D) Root
TETA 7 STEUTRT U 365 ?

A) g B) @ C) =T D) |
Select the option that does not belongs to the group.

A) Moong B) Toor C) Millet D) Soyabean
TRAYR Ueft STHARUS ST T TR ?

A) TEH B) TSTEA C) HERTS D) TR
The bharatpur bird sanctuary is located in .................... state.

A) Assam B) Rajastan C) Maharashtra D) Gujrat
TTeAeTieh! Y 7 QUTRT STUTt ShioTe ?

A) T B) Sicht C) 99 D) Tgutt
Which one of the following animals does not gives milk?

A) Cow B) Goat C) Duck D) Buffalo




69.

70.

71.

72.

73.

74.

75.

76.

77.

A) 9.5 St B) Uet. Y. S0 C) =R T4 D) alicTa<h |a
Pollution can be checked by the use of :

A) CNG B) LPG C) Bio gas D) All of these
TR ShIvTd AT AT ?

A) BTt B) Hg_ C) &4 D) $FEH
Which one of the following is not an internal organ?

A) Chest B) Brain C) Heart D) Lungs

& STl GO SREAeET S TEAT JehesITel Shid TgUTaTd ?

A) SR B) fei= C) uea D)se

A land mass surrounded by water on all sides is called..........ccccccce... ?

A) Plateau B) Pass C) Mountain D) Island
.............. F1 U G2 BieT 3R 3R

A) gefiiet B) FERTIT C) TeeT™ D) aficTu<h @a
The e is a small model of the earth.

A) Globe B) Map C) Atlas D) All of these
geefien URYTUTS ... TR graT.

A)fGa@snform B) A C)ufgm NEL]
................ Caused by the revolution of the earth.

A) Days and nights  B) Seasons C) Months D) Years

T AT A IS MR ?

A) HERTSE B) fawett C) TSR D) T
Where is the statue of unity?

A) Maharashtra B) Delhi C) Rajastan D) Gujrat
WRATSAT SFAUIAT ShIUTAT HEETR TR ?

A) URrEeR B) &t C) reAieh D) 3Tehfeeh
............... Ocean lies to the south of india.

A) Pacific B) Indian C) Atlantic D) Arctic
.............. 2 A9 STetg URg Haid NS agdeht H1eH 3118,

A) ST B) STTHRI C) TEHT D) ¥ed ATt
............. are the quickest, but the most expensive means of transport.

A) Airways B) Waterways C) Roadways D) Railways
AR TAL et TlmrruaTa 37 ?

A) € AT, 9]%e B) §4 TS, §9%e  C) 2 AW, 9’40 D) € AW, $3%%

10
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78.

79.

80.

81.

82.

83.

84.

85.

Our constitution was adopted on ................
A) 26 January, 1947 B) 15 August, 1947

e 9 T 9=y et

A) GIIRTI B) giagex C) SIS HFATES
Select the odd one out.

A) Sunlight B) Chlorophyll C) Carbon dioxide
iR Toheeaman fheeigR ..o G

A) oo™ B) HRSITSH C) STy

............. was in-charge of the fort of purandar.

A) Diler khan B) Murarbaji C) Baji prabhu
AFTSITEAT HISTD AT i 21 ?

A) T B) feramsit C) wisH
..................... was Tanaji’s brother.

A) Raiba B) Firangoji C) suryaji

forarrt aron fReecaten v T @A ?

A) TEATE B) URIETTS c) g

Shivaji named torana as.................

A) Raigad B) Prachandgad C) Sinhagad
ARSI SMBAUN........cee HEd g A1d fEgne e
A) T4 g0 B) &1 28%&0 C) G4 %o
Kondana became sinhagad in the memory of Tanaji. In................. ?
A) 1670 A.D B) 1660 A.D C) 1770 A.D
TUTUITAT R ... T

A) GHR B) FaTTER C) JHelaR

Each pargana was headed by a .............. .

A) Subhedar B) Havaldar C) Jumledar
WrelteTueht T foreron i whioTan ?

A) & TLR B) $% g C) g% feE=

Which one of the following is national education day?
A) 5t Septembar B) 14t November  C) 11 Decembar

WTecTdeh! ShIUTd ITEY HETTR ATE ?
A) He8 B) faeeht C) Thetehed

Which one of the following cities is not a metropolitan city ?
A) Mumbai B) Delhi C) Kolkata

11

C) 26 January,1950 D) 26 January, 1949

D) AR

D) oxygen

D) ATt HTeTER

D) Tanaji Malusare

D) FRRETSTt

D) Murarbaji

D) T=ITE

D) Rajgad

D) @ 2&8&\%

D) 1669 A.D

D) $ATER

D) Inamdar

D) §¢ AiegeR

D) 11t Novembar

D) T

D) Agra

——
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86.

87.

88.

89.

90.

91.

92.

93.

AN I SRV AT ?

A) TSR B) T HTeRIA C) N. AT D) A UgH oA
Who invented the telephone?

A) Adisan B) C. Marconi C) J.Thomson D) Alexzander Graham Bell
YRATA ShIUTCH I JUTEAT 3712 ?

A) TRIITTE B) TIERITIRL C) TSI D) Wifereh

What is India’s form of governance?

A) Dictatorship B) Democracy C) Monarchy D) Federal
WRAT™ $% o AT ThivT ?

A) T T hifee B) SIUTE WAl

C) ufasm urdter D) T.U1. . 37eqe1 el

Name the 14 president of India?

A) Ram Nath Kovind B) Pranab Mukherjee

C) Pratibha Patil D) A.P.J.Abdul Kalam

WRATHI Ufgett Ufger Teet afidifes fosian son 2

A) STELA WeeTaT™ B) <ial SRR

C) afaw ardter D) HEX odT

Which Indian woman was the first to win the nobel prize ?

A) Arundhati Bhattachaya B) Chanda Kochhar

C) Pratibha patil D) Mother Teresa
SAEBTTAR ST Talid WISt <91 ShIUTAT ?

A) TP B) 3T C) = D) WRd

Which is the largest country in the world based on the area?

A) Russia B) America C) China D) India

UATEl ShYRI hIUTH Tgeet ST ?

A) AR B) TER U2 C) WTATERT D) AT TSI

Who is known as Punjab kesari?
A) M.Gandhi B) Sardar Patel

Y KA RIUTT WATIN TG 3T ?
A) Sefiiea B) fromaTsit

Mary kom’s relation to what game it is ?
A) Badminton B) Shooting

‘ST’ g T ot feafget 2
A) T=AT TR
C) SfchAIg TreUTEa™

——

C) Bhagat Singh D) Lala Lajpatrai

C) Hfeegeq NESCESEL
C) Boxing D) Weightlifting
B) $vareig fereamanr
D) ITUHT AT
)|
12 J



The song ‘Vande Mataram’ was composed by?
A) Rabindra Nath Tagore B) Ishwar Chandra Vidhyasagar
C) Bankimchandra Chattopadhyay D) None of these

94.  ‘GhIUTIh WY SRIUTET ST TR ?

A) HETIRTT B) 3N C) TSRA D) AfHesTg,
Where is konark temple?
A) Madhya Pradesh B) Odisa C) Rajastan D) Tamil nadu

95.  SRIICT Hald SR CHREGAT ST G Q¥ ShIUTAT ?

A) e B) WA C) s D) o
Which country has the second largest population in the world?
A) China B) India C) America D) Russia

96. ‘T T IIeE U Wb o 12 ?

A) @-Bt B) Fediel C) fhere D) hagSt
Runner is related to which game?
A) Kho-Kho B) Football C) Cricket D) Kabaddi

97.  TENGHLA U Tl e whivrd ?

A) FeRrem B) FeRIdim c) Fepre D) Ferea
What hazardous liquid present in tobacco?
A) Nicotous B) Nicotine C) Nicot D) Nikals

98.  WRATE! WA= EREIUT Hall ShIUT 3.

A) 3TEUT SEA B) HEHT T

c) Frfen fmmmm D) TTaeh! &Y

Who is the present defence minister of India?

A) Arun Jaitley B) Sushma Swaraj

C) Nirmala Sitharaman D) None of these
99.  WERISCT™ SHT hIUT 3ATd ?

A) TIgehid U B) G HHEER

C) fersup wrem D) it wetet

Who is the forest minister of Maharashtra?

A) Chandrakant Patil B) Sudhir Mungantiwar

C) Vishnu Savra D) Girish Mahajan

100. WERISE AT TATYAT hagl ST ?

A) § | 2380 B) ¢ W 2R&2 C) ¢ ® 3340 D) ATdR! ATE
When did Maharashtra State came in to existence?
A) 1t May 1960 B) 15t May 1962 C) 1%t May 1950 D) None of these

13
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